[1D:9:9:9:9:9:0:9.9:9:9:9:0:9.9.9.9:0:0:9.9.9.9:9:0:0:9.0.9.9:9:0:0.9.9.9:0:0:9.:0.9.0.9:0:0:0.0.9.0:9:0:0.0.9.9:0:0:0:0.9.0.0:0:0:0.0.9.0:9:0:0:0.0.9:0:¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXXXXME /2-6600101-00001XX
Set01l for No.9790

U=1{1,2,3,4,5,6,7,8,9,10, 11}
NoOI = A=1{1,5711}
B=1{2,3,6,7,10}
U=1{2,3,4,5,6,7,8,9,10,11,12, 13, 14}

No02 = A=1{2,7,10,14}
B=1{2,4,7}
U=1{0,1,2,3,4,5,6,7,8,9,10, 11, 12, 13}
NoD3 — A=1{0,8,12}

B=1{4,58,9,12}
C=1{0,1,4,5,9,10}
U=1{2,3,4,5,6,7,8,9,10,11, 12, 13}

No04 = A=1{2,3,6,8,11}
B=1{2,7,8,9,11,12,13}
I=4 U B 2=B-4 3=(4 N B)
No05 = 4=4 N B 5=CNn(4UB) 6=(4nNnC)uU (Bn C)
7=(B-A4) N (B-C) 8=4 N B 9=(4-C)-B

);0:9:9.:0:9:9.:0:9:9.0:9:9:0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:9:9.0:0:0.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXXXKXXXXXXXMA/2-6600101-00002XX
Set01 for No.9888

U=1{2,3,4,5,6,7,8,9,10,11, 12, 13}
No01 = A=1{3,9,10,11}
B=1{2,6,7,9,12}
U=1{3,4,5,6,7,8,9,10, 11,12, 13, 14, 15, 16, 17}
No02 = A=1{3,4,8,11, 14,16}
B=1{3,6,9,11,12}
U=1{1,2,3,4,5,6,7,8,9, 10,11, 12, 13, 14, 15, 16, 17}
A=1{4,7,16,17}

No03 = B=1{3,9 17}
C={1,4,5,11,14,16,17}
U=1{1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14}
No04 = A=1{1,3,7,8,11,13}
B=1{2,5,9,10,11,13, 14}
I=4 U B 2=A-B 3=(4 n B)
No05 = 4=4 N B S=An(BuCC) 6=(ANnB)yu(dnC)
7=(B-A4) N (B-C) 8=B -4 9=B N (C-4)

X [Page = 0001] XXXXXXXXXXXXXXXXXXXXXXXKXXXXKXKXXXKKKXKXXXXKKXXXXKXKXXXKKKXKXXKK




);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXKXKXMA /2-6600101-00003XX

Set0l for No.9926
U=1{0,1,2,3,4,5,6,7,8,9,10, 11, 12}

No0I = A=10,56,9}
B=1{2,510}
U=1{0,1,2,3,4,5,6,7,8,9,10}
No02 = A4=10,1,3,5,8,9,10}
B=1{0,3,10}

U=1{1,2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15, 16}
- A=1{2,4,13, 14}
No03 = B=1{1,6,8, 12,16}
C=1{6,8,10,11,15,16}
U=1{1,2,3,4,5,6,7,8,9,10, 11, 12}
A=1{3,5,9, 10,12}

No04 =
B={1,8,10,12}
A=4 U B 2=B-4 3=(A-B) n (B-4)
4=4 v C S=A U (BN C) 6=(49vB)ynmn4dwvC)

No05 =
7=(4-B) U (4-C) 8=B U C 9=C n (B-4)

),9:9:9,0:9:9,0:9:9.0:9.:9,0:9.:9.0:9.:9,0:9.:9.0:9.:9.0:9.:9.0:9.:9.0:9:9.0:9:0.0:9.:9.0:9:9.0,9:9.0:9:9,0:9:9.0:9:9,0:9:9.0,0:9.0:9:9.0,9:9.0:9:9.0:0.:0.0,0:¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXKXKXKXKKXKMA /2-6600101-00004XX

Set01 for No0.9929
U=1{4,5,6,7,8,9,10,11, 12,13, 14}

A=1{511,12,13}
B=1{4,5,8,9,10,11}
U=1{3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15, 16}
A=16,7,9,10, 14,16}

No0l =

No02 =
B=1{6,8,13,15}
[U=1{1,2,3,4,5,6,7,8,9,10, 11,12, 13, 14,15} |
A=1{1,3,5,7,9,13,15
No03 = Bi{6, 8, 12,13,15}}
i C={5,6,7} ]
[U=1(1,2,3,4,5,6,7,8,9,10, 11,12, 13, 14,15} |
No04 = A=1{1,4,11,15}
L B=1{3,8,10, 14,15} ]
1=B 2=4-B 3=(4 N B)
No05 = 4=4 U B S=An(BulC) 6=(AnNnB)udnC)
9=4 N (B-C)

7=(4-B) U (4-C) 8=4 n C
):9:9:9:9.9.9.9:0:0:9:9.9.9.9.9.9.9.9.0:0:0:9.9.9.9.9.9.9.9.0:0:0:9:0.9.9.9.0.9.9.0:0:0:9.0,9.9.0.9.9.9.0:0:0.:0.0.0.0:¢

X [Page = 0002]




X

);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXKKXKXKXKXMA/2-6600101-00005XX
Set01l for No.10106

[U=1{3,4,5,6,7,8,9,10,11, 12,13, 14, 15} |
A=1{3,5,6,7}

L B=1{4,12,15}
[U=1{0,1,2,3,4,5,6,7,8,9,10, 11, 12, 13 } |

No02 = A=1{6,7,11,12,13}

L B=1{2,4,6,7,8,12} ]

(U=1{0,1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14} |

A=1{0,2,4,7,8,10, 14}
No03 = B=1{2,4,8,10, 14}
L C=1{56,7, 14} |
(U=1{0,1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14} |

No04 = A=1{4,5,7,8,9,12, 14}

i B=1{0,1,4,7,13} i
I=4 U B 2=B-A4 3=(4-B) N (B-4)
4=4 v B S=An(BuCC) 6=(ANnB)yu(dnC)

7=(C-4) U (C-B) 8=C-4 9=(B-C) -4

):9.9.9.9:9:9.9.0.0:0:0.9.9.9.9.9:9.0.9.0.0.0.:9.9.9.9.9.9.9.0.0.0:0:0.:9.9.9.9.9.9.0.0.0:0:0.9.9.9.9.9.9.0.0.0:0:0,:9.9.9.9.9.9.0.0.0.0.0.9.9.9.9.9.9.0.¢

No0l =

No05 =

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXXXKXXXXXKXXMA /2-6600101-00006XX
Set0l for No.10139

U=1{2,3,4,5,6,7,8,9,10, 11,12}
A=1{4,7,8,10,12}
B=1{4,56,8,10,11}
U=1{3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16, 17}
No02 = A=1{10,13,14,15,17}
B=1{4,5,7,8,10,13, 16}
U=11,2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15}
A=1{2,4,9, 10,14}
No03 = B=1{5,6, 14}
C=1{1,3,4,10, 11,12, 14}
U=1{2,3,4,5,6,7,8,9,10, 11, 12}

No0l =

No04 =

A=1{5,612}
B=1{4,5,6,8,10,12}
1=B 2=A4A-B 3=4 N B
No05 = 4=Bn C S=Cn(A4uUB) 6=(ANnC)u(Bn ()
7=(C-4) U (C-B) 8=B-C
[Page = 0003]

9=(B-4)-C
)10:0:9.9.:9.9.9.9:9:0.9.9.9.9.9:9:0:0.0.9.9.9.9.9:0:0.0.0.9.9.9.9:0:0.0.0.9.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9:0:0:0:¢




);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXKXKXKXMA/2-6600101-00007XX
Set01l for No.10226

U=1{2,3,4,5,6,7,8,9,10, 11,12}
No0I = A=1{5,8 12}
B=1{5,7,8,9, 11,12}
U=1{4,5,6,7,8,9,10,11, 12, 13, 14, 15, 16, 17, 18}
No02 = A=1{4,6,9,11, 14,15, 18}
B=1{7,10,15, 16, 18}
U=1{0,1,2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15}
A=12,9, 11,12}

No03 = B=1{1,4,6,7, 14}

C=1{0,2,7,8,9,15}

U=1{4,5,6,7,8,9,10, 11, 12, 13, 14, 15}

No04 = A=1{6,8,9,12,13, 14}

B=1{7,9,12,13}
I=4 U B 2=B -4 3=4 UB
No05 = 4=4 S5=4A U (BN C) 6=(4UB)n (4uU C)
7=(C-A4) U (C-B) 8=B u C 9=(C-A4)-B

):0:9:9.:0:9:9.:0,9:9.0:9.:9:0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0.0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXXKXKXMA /2-6600101-00008XX
Set0l for No.10356

U=1{4,5,6,7,8,9,10, 11, 12, 13, 14,15}
NoOI = A=14,6,9,11}
B=1{5,6,10,12, 13,14}
U=1{3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16}
No02 = A=1{3,5,9,12,13, 14,16}
B=1{3,4,6,8,9}
U=1{3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15, 16, 17, 18, 19, 20}
A=1{8,14,17}

No03 = B=1{8,11,13, 15,16}

C=1{3,17,18,19}
U={3,4,5,6,7,8,9,10, 11,12, 13}

No04 = A=1{56,7,8,12}

B=1{3,6,10,11,12, 13}

A=A 2=B -4 3=4 UB
No05 = 4=B S5=BNn(4uUC) 6=(4nB)uU (Bn C)
7=(B-A4) N (B-C) 8=4 nC 9=(4-B)-C

X [Page = 0004] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKKXXXKKKKKK



X

);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXKXKXMA/2-6600101-00009XX
Set0l for No.10366

U=1{0,1,2,3,4,5,6,7,8,9,10,11}

No0I = A=1{1,2,3,59}
B=1{2,6,9}
U=1{4,5,6,7,8,9,10, 11,12, 13, 14, 15, 16, 17}
No02 = A=1{7,9,10,16,17}

B=1{7,8,11,13,14,16,17}
U=1{1,2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14}
- A=1{2,4,58 11,13, 14}
No03 = B={1,4,12, 14}
C=1{1,4,7,8,10, 14}
U=1{2,3,4,5,6,7,8,9,10, 11, 12, 13}

No04 = A=1{3,6,12}
B=1{3,4,6,9}
1=4 N B 2=B-4 3=4 N B
No05 = 4=BuU C S5=CuUAdnNnB) 6=(4UC)n (BuUC)
7=(C=A4) n (C-B) 8=B -4 9=(4-B)-C

);0:9:9.:0:9:9.:0:9:9.0:9:9:0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:9:9.0:0:0.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXXXKXXKXXMA /2-6600101-00010XX
Set01l for No.10706

U=1{0,1,2,3,4,5,6,7,8,9, 10}
NoOI = A=1{0,6,8)
B=1{0,3,45, 10}
U=1{3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15, 16}
No02 = A=1{3,4,5,8,09,13, 15}
B=1{4,7,10,11,12, 16}
U=12,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16, 17, 18, 19}
A=1{8,10,17}
No03 = B=1{2,6,10, 15,17}
C={4,5,10,12, 13, 17}
U=12,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16}

No04 = A=1{3,7,8}
B=1{10,11,13,15}
I=4 N B 2=4A-B 3=(4-B) N (B-A4)
No05 = 4=B N C

S=An(BuCC) 6=(AnNnB)yu(dnC)
7=(4-B) U (4-C) 8=C-4 9=B N (4-C)
[Page = 0005] XXXXXXXXXXXKXXXXXXXXXKXXXKXXKXKXKXKXXXXKKKLXKXXKXKKKXKXXKKXKKXKXKKKXKKXKXKKKK




);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXKXKXKXMA/2-6600101-00011XX
Set01l for No.10899

U=1{3,4,5,6,7,8,9,10,11, 12,13, 14}
No0I = A=1{3,4,7}
B=1{4,6,7,10,13, 14}
U=1{1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14}
No02 = A=1{2,3,4,9,12,13}
B=1{5,8, 12}
U=1{1,2,3,4,5,6,7,8,9, 10,11, 12, 13, 14, 15}
A=1{4,7,8,9,11,15}

No03 = B=1{1,10,11, 12,14}

C=1{1,2,7,10,11,13,15}
U={4,5,6,7,8,9,10,11, 12, 13, 14}
No04 = A=1{4,10,11,13}

B=1{4,57,8,10,13,14}

I=4 N B 2=A-B 3=(4-B) U (B—A)

No05 = 4=4 B S=BuAnC) 6=(4vB)n(Bu()
7=(B-A4) N (B-C) 8=B N C 9=4 N (C-B)

),9:9:9,0:9:9,0:9:9.0:9.:9,0:9.:9.0:9.:9,0:9.:9.0:9.:9.0:9.:9.0:9.:9.0:9:9.0:9:0.0:9.:9.0:9:9.0,9:9.0:9:9,0:9:9.0:9:9,0:9:9.0,0:9.0:9:9.0,9:9.0:9:9.0:0.:0.0,0:¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXXXKXXKXXMA /2-6600101-00012XX
Set0l for No.10907

U=1{2,3,4,5,6,7,8,9,10,11,12}

No0I = A=1{3,4,6,9,10}
B=1{3,9,10}
U=1{2,3,4,5,6,7,8,9,10,11,12, 13, 14}
No02 = A=1{3,6,10}

B=1{2,3,4,9,12}

U=1{3,4,5,6,7,8,9, 10,11, 12, 13, 14, 15, 16, 17, 18, 19}
A=1{4,9,14,17,19}

No03 = B=1{4,11,16}
C=1{3,9,12,18}
U={3,4,5,6,7,8,9,10, 11,12, 13, 14}
No04 = A=1{3,6,8,10,12,13, 14}
B={4,5,6,7,13, 14}
1=4 N B 2=4-B 3=(4 U B)
No05 = 4=C S5=4AU(BNC) 6=(4UB)n (4uU C)
7=(B-A4) U (B-C) 8=4-B 9=(4-C)-B

X [Page = 0006] XXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKKKXKXXXKKKXXKXXKXKXXXKKKXKXXKK



);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXXKXKXMA/2-6600101-00013XX
Set01l for No.10951

U=1{3,4,5,6,7,8,9,10,11, 12,13, 14}

No0I = A=1{3,7,13,14}
B=1{4,5,6,9,14}
U=1{4,5,6,7,8,9,10, 11, 12, 13, 14}

No02 = A=1{5,6,7,9,13}
B=1{5,13,14}
U=1{1,2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15, 16}
A=15,8,10,11}

No03 = B=13,6,8,9,12,13, 14}
C=1{5,6,7,10,13}
U=1{1,2,3,4,5,6,7,8,9, 10,11, 12}
No04 = A=1{3,5,6,7,8}
B={1,7,10}
1=4 U B 2=B -4 3=4 N B
No05 = 4=B N C S5=Cn(AUB) 6=(4nNC)uU (Bn C)
7=(A4-B) N (4-0C) 8=4-C 9=(B-C) -4

);0:9:9.:0:9:9.:0:9:9.0:9:9:0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:9:9.0:0:0.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXXXMA /2-6600101-00014XX
Set0l for No.11058

U=1{2,3,4,5,6,7,8,9,10,11, 12, 13}

No0I = A=1{2,4,9,11}
B=1{2,5,8,10,12}
U=1{3,4,5,6,7,8,9,10, 11, 12,13, 14, 15}

No02 = A=1{3,9,10,11, 13, 14}
B=1{3,4,14}
U=1{3,4,5,6,7,8,9, 10,11, 12, 13, 14, 15, 16, 17, 18, 19}
A=1{5711,13}

No03 = B=19,15,19}
C=1{6,7,8,14,15}
U=1{4,56,7,8,9,10,11, 12,13, 14, 15, 16, 17, 18}
No04 = A=1{4,8,9,10,12,13}
B=1{12,16,17}
d=4 2=A4-B 3=(4-B) N (B-4)
No05 = 4=4 U B S=Cn(A4uUB) 6=(ANnC)u(Bn ()
7=(C-4) U (C-B) 8=C-4 9=B N (C-4)

X [Page = 0007] XXXXXXXXXXXXXXXXXXXXXXXKXKXXXKXKXKXXXKKKXKXXXKKKXXXXKXKXXXKKKXKXXKK
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXKXKXMA/2-6600101-00015XX
Set0l for No.11139

U=1{2,3,4,5,6,7,8,9, 10, 11, 12, 13}

NoOI = A=1{2,7,9,12,13}

B=1{2,7,8,13}
U=1{1,2,3,4,5,6,7,8,9,10, 11}

No02 = A=1{5,6,7,8,10}

B=1{1,2,3,6,8,10}
U=1{3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15, 16, 17, 18 }

A=1{9,10,11}
No03 = B=1{4,6,7,18}
C=1{3,5,10,11,12,17,18}
U=1{4,5,6,7,8,9,10, 11,12, 13, 14, 15, 16, 17, 18}
No04 = A=1{4,5,14}
B=1{6,7,9,11, 14, 16, 18}
1=B 2=B-4 3=(4 n B)
No05 = 4=4 S5=Cn (A UB) 6=(4NnC)uU(Bn C)
7=(4-B) N (4-C) 8=C-B 9=(B-4)-C

):0:9:9.:0:9:9.:0,9:9.0:9.:9:0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0.0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXXKXKXMA/2-6600101-00016XX
Set0l for No.11142

U=1{0,1,2,3,4,5,6,7,8,9,10, 11,12}
No0I = A=1{1,7,8}
B=1{2,6, 11,12}
U=1{4,5,6,7,8,9,10,11, 12, 13, 14, 15, 16, 17, 18}
No02 = A=14,9,10,13, 14}
B=1{4,7,15}
U=1{3,4,5,6,7,8,9,10, 11,12, 13, 14, 15, 16, 17, 18, 19}
A=13,8,11,14,15,19}

No03 = B=1{3,4,6,12,14}
C=1{8,9,16}
U={3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15}
No04 = A=1{4,8,11,13, 14}
B=1{6,7,9,12}
A=A 2=4-B 3=(4 N B)
No05 = 4=B S5=CuAnNnB) 6=(4UC)n (BuUQC)
7=(4-B) U (4-C) 8=C-4 9=B N (4-C)

X [Page = 0008] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKKXKKXXXKKKKKK
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXXKXKXMA/2-6600101-00017XX
Set0l for No.11193

U=1{3,4,5,6,7,8,9,10,11, 12,13, 14, 15}

NoOI = A=1{4,7,8,13,15}

B=1{5,7,10,12}
(U=1{3,4,5,6,7,8,9,10, 11,12, 13, 14, 15, 16 } |
No02 = A=1{6,9,12}
L B=1{4,10,12,13,16} i
[U=1{0,1,2,3,4,5,6,7,8,9,10, 11,12, 13, 14} |
A=1{3,6,10,14}

No03 = B=1{0,1,2,7,12}
i C=1{2,3,5,6,7,8} |
U=1{2,3,4,5,6,7,8,9,10, 11, 12, 13, 14}
No04 = A=1{5,10,13}
B={5,6,11,13}
A=A 2=4-B 3=(4-B) U (B-4)
No05 = 4=4 N B S5=4ANn (BUC) 6=(ANnB)uU(4dn C)
7=(B-A4) N (B-C) 8=4nC 9=4 N (B-C)

);0:9:9.:0:9:9.:0:9:9.0:9:9:0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:9:9.0:0:0.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXXXKXXXKXXXXMA/2-6600101-00018XX
Set0l for No.11736

U=1{0,1,2,3,4,5,6,7,8,9,10}
No01 = A=10,4,5,10}
B=1{1,2,8,9,10}
U={4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16, 17 }

No02 = A=1{4,58,9,11,12,16}
B=1{5,89}

U=1{0,1,2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15, 16, 17, 18}

A=1{4,10,11,12, 14, 16, 17}

No0s3 = B=1{4,10,14}

C=1{1,3,4,11, 16,18}

U=1{0,1,2,3,4,5,6,7,8,9,10, 11,12}

No04 = A=1{1,4,6,7,10,11,12}

B=1{7,8,9,12}
I=4 N B 2=4-B 3=4 N B
No05 = 4=Bn C S=An(BuCC) 6=(AnNnB)yu(dnC)
7=(4-B) U (4-C) 8=4nC 9=B N (4-C)
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKXXKXKXXKXKXMA/2-6600101-00019XX
Set0l for No.12111

U=1{2,3,4,5,6,7,8,9,10, 11, 12, 13}
NoOI = A=12,7,8,11}
B=1{3,5,9,10,11,12}
U=1{3,4,5,6,7,8,9, 10, 11,12, 13, 14, 15, 16, 17}
No02 = A=14,57,12,14,15,16}
B=1{8,9,11,17}
U=1{1,2,3,4,5,6,7,8,9,10,11, 12, 13, 14, 15}
A=15,6,8,10,11,12,13}

No03 = B=1{3,4,10,11, 14}
C=1{3,8,10,13}
U=1{1,2,3,4,5,6,7,8,9,10, 11,12}
No04 = A=1{3,4,6,10}
B=1{4,5,11}
A=A 2=B -4 3=(4 N B)
No05 = 4=B S5=4A U (BN C) 6=(4UB)n (4uU C)
7=(C-A4) n (C-B) 8=4-B 9=(B-A4)-C

):0:9:9.:0:9:9.:0,9:9.0:9.:9:0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0.0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXKXKXMA /2-6600101-00020XX
Set0l for No.12116

U=1{0,1,2,3,4,5,6,7,8,9,10, 11}
NoOI = A=1{2,4,6,10}
B=1{1,4,6,8,9,10}
U=1{1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14}
No02 = A=12,7,10,13}
B=1{7,8,10,11,13}
U=1{2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16, 17 }
A=12,5,6,7,10,15,17}

No03 = B=1{2,4,6,9,17)}

C=1{2,6,7,10, 14,17}

U=1{2,3,4,5,6,7,8,9,10,11, 12,13}

No04 = A=1{2,3,4,57,9}

B=1{2,4,5,8,10,11,13}

I=4 N B 2=B-4A 3=4 U B
No05 = 4=4n C 5=BU (AN C) 6=(4UB)n (BuUC)
7=(C-4) n (C-B) 8=4-C 9=(C-B) -4

X [Page = 0010] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKKXXXKKKKKK



);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXKXXKXKXMA/2-6600101-00021XX
Set0l for No.12179

U=1{2,3,4,5,6,7,8,9,10,11,12,13, 14}

No0I = A=1{2,12,13}
B=1{2,6,7,14}
U=1{4,5,6,7,8,9,10, 11, 12, 13, 14}
No02 = A=1{7,10,11,12,13}

B=1{4,5,6,9,13, 14}
U=1{2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16, 17}
A=16,7,13,14,16,17}

No03 = B=1{4,9,12,13, 15}

C={3,12,17}
U=1{3,4,5,6,7,8,9,10, 11,12, 13, 14, 15, 16}

No04 = A=1{3,6,10,12, 14}

B=1{4,8,12,16}
1=B 2=B-4 3=4 UB
No05 = 4=C S5=BuU(A4nNnC) 6=(4UB)n (BuC)
7=(B-A4) U (B-C) 8=4 nC 9=(4-B)-C
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXKXKXKXMA/2-6600101-00022XX
Set01l for No.12324

U=1{4,5,6,7,8,9,10, 11, 12, 13, 14,15}

NoOI = A=15,6,7,9,12,14}
B=1{6,7,12}
U=1{3,4,5,6,7,8,9,10,11, 12, 13, 14, 15, 16, 17}
No02 = A=1{7,13,15}

B=1{4,5,6,9,10,16}
U=1{0,1,2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15, 16, 17 }
A=1{10,12,15}

No03 = B=1{2,4,9, 11,13}
C=1{1,5,10,12}
U=1{0,1,2,3,4,5,6,7,8,9,10, 11, 12,13}

No04 = A=1{2,4,6,8,13}
B=1{1,4,5,13}

1=B 2=B-4 3=(4 N B)

No05 = 4=C S5=4ANn(BUC) 6=(A4NnB)uU (4n C)
7=(4-B) U (4-C) 8=4 nC 9=(4-B)-C

X [Page = 0011] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKKKXKKXXXKKKKKK
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKXXXKXXKXKXMA /2-6600101-00023XX
Set01l for No.13087

U=1{0,1,2,3,4,5,6,7,8,9,10}
No0I = A=1{6,7,10}
B=1{1,2,5,7,9,10}
U=1{2,3,4,5,6,7,8,9,10, 11, 12,13, 14,15}
No02 = A=1{7,10,11}
B=1{4,5,6,9,12}
U=1{0,1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14}

A=1{5,6,9}
No03 = B=1{0,9,11, 12,13, 14}
C=1{4,7,8,12}
U=1{0,1,2,3,4,5,6,7,8,9,10}
No04 = A=10,2,3,4,6,7,8}
B=1{0,1,4,5,7,10}
A=A 2=A-B 3=(4 U B)
No05 = 4=Bvu C S=BnNn(4uC) 6=(4AnNnB)yu ((BnC)
7=(C-A4) U (C-B) 8=4 U C 9=4 N (C-B)
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXXXKXXXKXXXXMA /2-6600101-00024XX
Set01 for No.13339

U=1{1,2,3,4,5,6,7,8,9,10,11,12, 13}

No0I = A=1{5,9,10,13}
B=1{4,6,9}
U=1{3,4,5,6,7,8,9,10,11, 12, 13, 14}
No02 = A=1{3,6,7,9, 11,14}
B=1{3,5,14}

U=1{1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15}
A=1{4,6,7,10,15}

No03 = B=12,5,7,9,10,12,13}
C=1{4,8,13,15}
U=1{1,2,3,4,5,6,7,8,9,10, 11}
No04 = A=1{2,4,6}
B=1{1,3,4,5,7,10}
d=4 2=4-B 3=4 N B
No05 = 4=B v C S=Cu(AdnB) 6=(4AvC)n(BuQl)
7=(C-4) U (C-B) 8=A4-B 9=(4-B)-C

X [Page = 0012] XXXXXXXXXXXXXXXXXXXXXXXKXKXXXKXKXKXXXKKKXKXXXKKKXXXXKXKXXXKKKKXXKK
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXKXKXKXMA /2-6600101-00025XX
Set01l for No.13340

U=1{1,2,3,4,5,6,7,8,9,10, 11,12}

No0I = A=1{3,5,6,9,12}
B=1{4,6,7}
U=1{3,4,5,6,7,8,9,10,11, 12, 13}
No02 = A={4,11,12}
B=1{4,6,7,11}

U=1{0,1,2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15, 16 }
A=12,5,7,8,10}

No03 = B=1{1,2,5,6,7,9,11}
C=1{0,7,12,15}
U={3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15}
No04 = A=1{4,8,10,11,12,15}
B=1{5,9,10,12}
1=B 2=B-4 3=(4-B) U (B-4)
No05 = 4=B S5=BNn(A4uUC) .6=(4n B)uU (Bn C)
7=(C-A4) U (C-B) 8=C-4 9=(A4-B)-C
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Set01l for No.13350

U=1{2,3,4,5,6,7,8,9,10, 11,12}
No0I = A=1{3,5,6,7,10,11}
B=1{2,6,10,12}
U=1{4,5,6,7,8,9,10,11, 12, 13, 14,15}
No02 = A=1{4,57,8,9,12, 14}
B=1{7,8,12, 14}
U=1{0,1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14}
A=12,5,7,8,10,13}

No03 = B=10,8,10,12, 13}

C={1,6,7,11,12, 13, 14}

U=1{0,1,2,3,4,5,6,7,8,9,10, 11, 12}

No04 = A=1{2,3,4,59,10,12}

B=1{0,3,6,8,11,12}
I=4 N B 2=B-4 3=4 N B
No05 = 4=4 S5=4ANn(BUC) 6=(A4NnB)uU (4n C)
7=(B-A4) U (B-C) 8=4 N B 9=4 N (B-C)

X [Page = 0013] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKKKKKXXXKKKKKK
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXXKXKXMA/2-6600101-00027XX
Set0l for No.13361

U=1{4,5,6,7,8,9,10, 11, 12, 13, 14}
No0I = A=1{5,6,8,10,11, 13}
B=1{5,8,10,12, 14}
U=1{2,3,4,5,6,7,8,9,10,11, 12, 13, 14}
No02 = A=1{4,7,8,10,13}
B=1{5,6,8,9,10,11, 12}
U=1{1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16 }
A=1{1,2,56,10,11,15}

No03 = B=1{10,11, 14,16}
C=1{1,2,4,9,15,16}
U=1{3,4,5,6,7,8,9,10, 11,12, 13, 14, 15, 16}
No04 = A=1{3,4,59,11,14,16}
B=1{6,13,14}
I=4 U B 2=4-B 3=(4 N B)
No05 = 4=C S5=BU(ANnC) 6=(4UB)n (BuU ()
7=(C-A4) n (C-B) 8=B-C 9=(B-C) -4

):0:9:9.:0:9:9.:0,9:9.0:9.:9:0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0.0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXKXKXKXKXMA/2-6600101-00028XX
Set0l for No.13363

U=1{2,3,4,5,6,7,8,9, 10, 11, 12, 13}

NoOI = A=1{3,4,5,7,10}
B=1{6,10,13}
U=1{1,2,3,4,5,6,7,8,9,10,11, 12, 13, 14}
No02 = A=11,5,7,9,12,13}

B=1{2,6,7,10,11,12,13}
U=1{0,1,2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15}
A=1{2,4,7,9,15}

No03 = B=1{3,4,9)
C=1{2,5,6,7,8,9}
U=1{0,1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14}
No04 = A=1{0,4,6,8,10,12,13}

B=1{4,5,11}

1=4 N B 2=4-B 3=(4 n B)

No05 = 4=B N C 5=CNn(4UB) 6=(4nNnC)uU (Bn C)
7=(B-A4) N (B-C) 8=4 U B 9=(B-A4)-C

X [Page = 0014] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKKKKKXXXKKKKKK
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKXXKXKXXKXKXMA/2-6600101-00029XX
Set01l for No.13396

U=1{0,1,2,3,4,5,6,7,8,9,10, 11}
NoOI = A=1{4,6,7,11}
B=1{0,5,6,7,9, 11}
U=1{3,4,5,6,7,8,9,10,11, 12, 13, 14, 15, 16, 17}

No02 = A=1{3,4,5115}
B={4,7,12,13,14,15,17}
U={3,4,5,6,7,8,9,10, 11,12, 13, 14, 15}
A=1{7,10,11, 12, 14,15
No03 = Z:{4,6,11,12} }
C=1{3,10,15}
U=1{4,5,6,7,8,9,10,11, 12, 13, 14}
No04 = A=1{4,518,9,11,13}
B=1{5,9,10,13, 14}
d=4 2=4-B 3=4 U B
No05 = 4=C S5=ANn(BUC) 6=(4NnB)uU(4dn C)
7=(C-A4) n (C-B) 8=4 N B

9=(B-4)-C
):9.9.9.9:9:9.9.0.0.0:0.9.9.9.9.9:9.0.9.0:0.0.9.9.9.9.9.9:9.0.0.0:0:0.:9.9.9.9.9.9.0.0.0:0.:0.9.9.9.9.9.9.0.0.0:0:0,:9.9.9.9.9.9.0.0.0:0.0.9.9.9.9.9.0.0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKKXKXKXKXMA/2-6600101-00030XX
Set01l for No.13406

U=1{3,4,5,6,7,8,9,10, 11, 12, 13, 14}
No0I = A=1{3,4,9 12}
B=1{5,6,7,10,11,13}
U=1{3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15}
No02 = A=1{510,12,13}
B=1{4,5,8,9,10,13}
U=1{2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16, 17}
A=1{7,8,13,15}
No03 = B=1{3,4,5,7,8,9,16}
C=1{3,7,12,15,16}
U=1{2,3,4,5,6,7,8,9, 10, 11, 12, 13}

No04 = A=1{3,4,7,8,9,10,12}
B=1{4,8,9}
A=A 2=B -4 3=(4 U B)
No05 = 4=4An C

5=4U(BNC) 6=(4AUB)n (4uU C)
7=(B-A4) U (B-C) 8=4 U C 9=4 N (C-B)
X [Page = 0015] XXXXXXXXXXXXXXXXKXXXXXKXXXXXXKXKXXXKXKXKKKKKXKXKXKKX KX KXKXKKXKKXKKXKKKKK
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXXKXKXMA/2-6600101-00031XX
Set0l for No.13433

U=1{4,5,6,7,8,9,10, 11, 12, 13, 14,15}
NoOI = A=14,5,7,10, 14,15}
B=1{4,8 11,12}
U=1{3,4,5,6,7,8,9,10, 11, 12,13, 14, 15}
No02 = A=1{3,4,5,6,8,14}
B=1{3,6,8}
U=1{2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15, 16, 17}
A=15,9,14,15,16}

No03 = B=1{2,3,9,12, 14,17}
C=1{4,9,17}
U=1{2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15}
No04 = A=1{4,8,10,11}
B=1{2,3,5,8,9,13,15}
A=A 2=A-B 3=(4-B) U (B-4)
No05 = 4=B S5=4A U (BN C) 6=(4UB)n (4uU C)
7=(C-A4) U (C-B) 8=4 n C 9=B N (4-C)
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXXKXKXMA/2-6600101-00032XX
Set0l for No.13473

U={4,5,6,7,8,9,10,11, 12,13, 14}
No01 = A=1{6,9,12,14}
B=1{4,51,9,11,14}
U=1{2,3,4,56,7,8,9,10,11,12,13}

No02 = A=1{5,6,10,11,12,13}
B=1{47,11}
[U=1{4,5,6,7,8,9,10, 11,12, 13, 14, 15, 16, 17, 18} |
A=1{10,12,15, 18
No03 = B:{6;{8,11,12, 13, 1}4}
L C=1{4,6,8,10,14,15,16} |
U=1{4,5,6,7,8,9,10, 11,12, 13, 14, 15, 16, 17, 18 } |
No04 = A=1{4,10, 14,16, 18}
L B=1{6,811,12,13, 14,15} i
A=A 2=4A-B 3=(4-B) N (B-A4)
No05 = 4=4n C S5=BuUu(AnC) 6=(49UB)n (BuUC)
7=(B-A4) U (B-C) 8=B N C 9=(B-C) -4

X [Page = 0016] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKKXXKKXXXKKKKKK
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXXKXKXMA/2-6600101-00033XX
Set01l for No.13485

U=1{0,1,2,3,4,5,6,7,8,9,10, 11,12}

No0I = A=1{2,511,12}
B=1{3,6,9}
U=1{1,2,3,4,5,6,7,8,9, 10,11, 12, 13, 14}
No02 = A=1{511,12}

B=1{1,2,4,6,10,11}
U=12,3,4,5,6,7,8,9,10,11, 12, 13, 14, 15, 16, 17, 18}
A=1{3,4,9,10,15, 16,18}

No03 = B=1{8,13, 14}

C=1{2,3,4,9,11,17}

U=1{4,5,6,7,8,9,10, 11,12, 13, 14, 15, 16, 17, 18}

No04 = A=1{6,7,8,16,17,18}

B=1{9, 14,16}
A=A 2=B-4 3=(4-B) N (B-4)
No05 = 4=4 U C S5=4 U (BNC) 6=(4UB)n (4uU C)
7=(B-A4) U (B-C) 8=B U C 9=(B-A4)-C
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXXXKXXXKXXXKXXXXMA /2-6600101-00034XX
Set0l for No.l1l4126

U=1{4,5,6,7,8,9,10,11,12,13,14, 15,16}

No0I = A=19,12,13,15}
B=1{6,14,16}
U=1{1,2,3,4,5,6,7,8,9, 10,11, 12}
No02 = A=1{4,510}

B=1{4,6,8,9,10,11}

(U=1{1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14} |
- A=1{3,4,5,9,13}

No0s3 = B=1{1,3,5,6,7,11,12}
. C=1{4,11,14} |
(U=1{1,2,3,4,5,6,7,8,9,10, 11,12, 13, 14} |

No04 = A=1{1,2,3,6,10}
i B=1{5,7,8,9,13, 14} |

I=4 N B 2=A-B 3=4 UB

No05 = 4=4 N B S=4A U (BN C) 6=(4A9vB)ynmn4dwvC)
7=(B-A4) n (B-C) 8=B nC 9=B N (C-4)
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKXXXKXXKXKXMA/2-6600101-00035XX
Set0l for No.14148

U=1{0,1,2,3,4,5,6,7,8,9,10,11}

NoOI = A=13,5,7,9,10}
B=1{3,9,11}
U=1{3,4,5,6,7,8,9,10,11, 12, 13, 14, 15, 16, 17}
No02 = A=1{4,10,17}

B=1{5,7,9,12,14,17}
U=1{3,4,5,6,7,8,9, 10,11, 12, 13, 14, 15, 16, 17, 18, 19}
A=1{4,11,13,15,18,19}

No03 = B=1{5,6,8,19}
C=1{3,4,14,15,17,18,19}
U=1{3,4,56,7,8,9,10,11, 12,13}
No04 = A=1{4,5,6,7,8,9}
B=1{3,4,9,12}
A=A 2=B-A 3=4 U B
No05 = 4=4 v B S=4A U (BN C) 6=(49 B)ynmn(4vC)

7=(C-4) n (C-B) 8=B u C 9=(B-C) -4
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXXXKXXXKXXXKXKXXXMA /2-6600101-00036XX
Set0l for No.14313

U=1{2,3,4,5,6,7,8,9,10,11,12, 13}

No0l = A=1{2,3,7,11,13}
B=1{3,8,12}
U=1{3,4,5,6,7,8,9,10,11, 12,13}
No02 = A=1{4,7,8,9,11,13}
B=1{3,4,5,6,9,11,13}
[U=1{2,3,4,5,6,7,8,9, 10,11, 12, 13, 14, 15, 16 } |
A=1{2,12,16
No0s3 = B:{2,§,7, 8,11,}15}
. C=1{2,6,8,14,15} i
(U=1{2,3,4,5,6,7,8,9,10,11, 12, 13, 14, 15,16 } |
No04 = A=1{2,6,9,10,12,13,16}
L B=1{3,4,10,11} |
1=4 N B 2=A-B 3=4 N B
No05 = 4=4 S5=CuAnNnB) 6=(4UC)n (BuUQC)
7=(4-B) U (4-0C) 8=C-B 9=(C-B) -4

X [Page = 0018] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXKXXKKXXXKKKKKK
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKXXXKXXKXKXMA/2-6600101-00037XX
Set01l for No.14370

U=1{0,1,2,3,4,5,6,7,8,9,10}

No0I = A=1{3,6,7,9}

B=1{4,7,8)
U=1{2,3,4,5,6,7,8,9,10, 11, 12,13, 14,15}

No02 = A=1{2,13,15}

B=1{3,5,7,11,12,13}

U=1{1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16, 17}
A=1{1,3,10,12}

No03 = B=1{3,7,12}
C={1,7,13,14,16}
U=1{1,2,3,4,5,6,7,8,9,10, 11,12}
No04 = A=16,7,10,12}
B=1{2,3,6}
I=4 N B 2=B -4 3=4 UB
No05 = 4=4 U C S5=4ANn (BUC) 6=(ANnB)uU(4dn C)
7=(A4-B) N (4-C) 8=4-C 9=Cn (B-4)
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXX XXX XKXXXKXXXXMA /2-6600101-00038XX
Set0l for No.14377

U=1{1,2,3,4,5,6,7,8,9,10,11}

No0I = A=1{1,3,6,8,9,11}
B=1{1,2,4,7}
U=1{0,1,2,3,4,5,6,7,8,9,10, 11, 12, 13}
No02 = A=1{0,1,3,4,6,7}
B=1{1,3,5,13}

U=1{0,1,2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15}
A=1{3,4,14,15}

No03 = B=1{4,6, 15}

C=1{6,9,10,12,15}
U=1{1,2,3,4,5,6,7,8,9,10,11, 12, 13, 14, 15}

No04 = A=1{1,8,11,13}

B=1{1,2,3,5,6}
=40V B 2=4-8 3=(4 N B)
No05 = 4=4n C S=A U (BN C) 6=(4A9v B)ynmn (4vC)
7=(C-4) n (C-B) 8=B u C 9=C N (4-B)

X [Page = 0019] XXXXXXXXXXXXXXXXXXXXXXXKXXXXKXKXXXXKKKXKXXXXKKXXXXKXKXXXKKKXKXXKX
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXXKXKXMA/2-6600101-00039XX
Set0l for No.14403

U=1{2,3,4,5,6,7,8,9,10, 11, 12, 13, 14}
No0I = A=1{3,5 12,14}
B=1{2,6,9,10,11}
U=1{3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15, 16}
No02 = A=1{4,6,9,12,15}
B=1{3,6,8,9,10,16}
U=1{2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16, 17}
A=1{2,4,5,6,8,16}

No03 = B=1{7,10,12, 15}
C=1{2,7,9}
U=1{2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16}
No04 = A=1{4,7,8,10,11, 13}
B=1{4,6,11,13}
I=4 N B 2=4A-B 3=(4-B) N (B-4)
No05 = 4=B U C S5=4 U (BNC) 6=(4UB)n (4uU C)
7=(4-B) U (4-C) 8=B-C 9=(C-4)-B
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXXXKXXXKXXXKXKXKXXMA /2-6600101-00040XX
Set0l for No.14421

U=1{4,5,6,7,8,9,10,11, 12, 13, 14, 15, 16}
No01 = A=16,7,11,12, 14}
B=1{4,9,10}
U=1{1,2,3,4,5,6,7,8,9,10, 11}
No02 = A=1{4,6,9}

B=1{2,3,4,6,7}

U=1{3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15, 16, 17, 18, 19, 20}
A=1{4,10,15}

No03 = B=1{9, 10,17, 18}
C=1{4,8,10,12,13,15,20}
U=1{3,4,5,6,7,8,9,10,11, 12,13, 14, 15}
No04 = A=1{3,5,8,11,14,15}
B=1{8,9,11}
1=B 2=A-B 3=(4-B) N (B-4)
No05 = 4=B v C Sd=Cu(AdnB) 6=(4AuC)n(Bul)
7=(C-4) U (C-B) 8=4 U B 9=B N (C-4)

X [Page = 0020] XXXXXXXXXXXXXXXXXXXXXXXKXKXXXKXKXXXXKKKXKXXXKKKXXKXXKXKXXXKKKXKXXKK
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXKKXKXKXKXMA/2-6600101-00041XX
Set01l for No.14430

U=1{2,3,4,5,6,7,8,9,10,11, 12, 13}
No01 = A=12,5,6,9,12}
B=1{2,4,6,7,11,13}
U=1{2,3,4,5,6,7,8,9,10,11, 12, 13, 14, 15, 16}
No02 = A=12,3,7,10,12, 14,16}
B=1{6,7,8,13, 14}

[U=1{4,5,6,7,8,9,10,11, 12, 13, 14, 15, 16, 17 } |
~ A=1{4,6,8,11,12,17}

No03 = B=1{7,10,12, 13, 14,15, 16}
L C={4,13,14,16} |
[U=1{4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16, 17} |

No04 = A=1{6,7,13,17}
L B=1{4,8,9,10,12, 14,17} ]

1=4 U B 2=4-B 3=(4 U B)
No05 = 4=BuU C S5=CNn A UB) 6=(4NnC)u (Bn C)
7=(4-B) N (4-C) 8=4 N B 9=C N (B-4)
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXXXKXXKXXMA /2-6600101-00042XX
Set0l for No.12037

U=1{2,3,4,5,6,7,8,9,10,11,12, 13, 14}
No01 = A=1{2,3,7,9}
B=1{5,9,10,12, 14}
U=1{0,1,2,3,4,5,6,7,8,9,10}
No02 = A=1{4,6,7,9}
B=1{1,2,7,8,9,10}
U=1{0,1,2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15, 16 }

A=1{0,5,6,14}
No0s3 = B=1{0,2,5,7,8, 14,15}
C=1{0,4,12}
U=1{4,5,6,7,8,9,10, 11,12, 13, 14, 15, 16}
No04 = A=1{7,8,9,12,15}
B=1{6,7,15}
I=4 U B 2=A-B 3=(4 U B)
No05 = 4=Bn C S=BnNn(40C) 6=(4AnNnB)yu ((Bn(C)
7=(B-A4) N (B-C) 8=B U C 9=B N (4-C)
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